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QUESTION 1

Which two statements are true regarding a Virtual Chassis? (Choose two.) 

A. A Virtual Chassis must be configured on the same series but not the same model. 

B. A Virtual Chassis supports up to 10 participating devices. 

C. A Virtual Chassis supports only two participating devices. 

D. A Virtual Chassis can be configured on mixed series and models. 

Correct Answer: BD 

 

QUESTION 2

Which automation tool uses the master/minion model for changes? 

A. Puppet 

B. Chef 

C. SaltStack 

D. Ansible 

Correct Answer: C 

 

QUESTION 3

What are two characteristics of using the Virtual Chassis technology in the aggregation tier of a data center? (Choose
two.) 

A. You can fully use all up-links from the access tier. 

B. It increases the control plane complexity. 

C. If reduces the control plane complexity. 

D. You cannot fully use all up-links from the access tier. 

Correct Answer: AC 

 

QUESTION 4

What are two phases of assessment when designing network security? (Choose two.) 

A. to layout a logical design 
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B. to layout a physical design 

C. to identify requirements 

D. to perform data analysis 

Correct Answer: AC 

 

QUESTION 5

Which three questions should be asked when performing a business impact analysis? (Choose three.) 

A. What is the cost of both partial and full outages? 

B. What is the replacement cost of the core switches? 

C. Which functions and services are critical to the company\\'s survival? 

D. How many redundant data paths are there? 

E. How long could an outage be sustained? 

Correct Answer: ACE 
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